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Handedness is neuro-behavioural laterality
(laterality : asymmetry )

Handedness is manual specialisation .

Are you ready to attribute 'neurobehavioural' as a
qualifier to inanimate such a cordage or a knot ?
Well | was certainly never ready for that so
egregious | find the very idea.

Handednes is fortunately without equivalent word in
French we use “latéralisation” instead. The word
does not even exist in correct English if | am to
believe my Cambridge and Oxford dictionnary. Must
be a “colonial” monster.

Why this persistence in using 'handedness' ?

Using the word 'handedness' even in the study of
animals ( human primates, non-human primates, or
non primates ) instead of the word 'lateralization’ just
makes it easy for another confusion of concept and
logical planes to happen :

handedness hides that it is necessary to separate
what is strict lateralization ( neurological,
anatomical, structural...) from preference
(psychological choice, taboo, social arbitrary,
behaviour what ever the source).

Manual lateralization, specialisation, has two
components : 'preference' and 'performance’ .

It does not seems to me so good an idea, around
knots, to use a "reference point' resident in the
speaker instead of taking it in a larger frame
common to all interacting persons.

This is self-reference or auto-reference, one of the
faster road leading to paradoxes and fallacies.

How would you like to be issued road maps with
"Front, Back, Left, Right" instead of North, South,
West, East ?

Do not guffaw at my preposterous proposal please.
Using 'handedness' for cordage and knots is
indeed issuing such maps !

It seems to me to makes better sense to put points
of reference in a large external frame. Result will be
as if it was a 'constant' for those inside this frame.

At least use a mean not depending on the ‘internal’
attributes of the observer, or acting person but on
something 'external’ that can be thought ‘non
changing’ because it apply in an identical manner to
all parties.

The 'concept’ behind the misnomer 'handedness' is
that despite change of its position, an entity that
truly has ‘chirality’ can always be 'put in the correct
attitude' thanks to its 'in-built' characteristics.

Right and Left are not very "robust" to change of
perspective.

Clockwise/anticlockwise are a bit more robust,
Compass points (magnetic) are still more ...
DOES IT REALLY MAKE SENSE TO USE
"RIGHT" OR "LEFT" ABOUT A KNOT :

JUST TWO EXAMPLES !

'Right" | define as being the side where most
people have their dominant (most often used) hand.
Still some ( 10-15%) are "Left" ;-)

Instead of handedness, better use :

-tz st

or even

- Indirect ( that is clockwise)" / "Direct or
Trigonometric or counter-clockwise... rotation,
migration, lateralization , anything but...

| am personally fond of 'direct' / ‘indirect’ as it take
minds off their set ways with left' / right

or clockwise / anti-clockwise

and force to 'think anew'.

"Z | S"is a “ standardisation of direction” that any
specialist working in the field of "textiles" is using
with no second thought to avoid any
misunderstanding.

Why not use ZIS as everyday language for our
technical discussions about cordages and knots ?

"Z" | "S" are not just a question of looking solely at
the direction of 'turns' as this simple

LEFT TURN RIGHT TURN
78 O
'
H CROSSING -
OVERcrossing  # ﬂ» S

NATURE OF TURN AND OF CROSSING
DETERMINING "Z* or "S"

s &

example show. clove lateralization shows it too
Fig.1

It is the conjunction of ‘turning" PLUS ‘altitude’
(High / Low - Over/Under) of the crossing that leads
to the correct answer.

| feel it is very important to be quite at ease with
direction of 'rotation' and direction of ‘progress of
successive rotations'

The more so when battling the misnamed
“handedness" of cordages and knots.
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Fig.2

IT IS NOT THE WAY THE
"turning” 1S MADE THAT WILL
SHOW YOU THE
LATERALIZATION :

just see A1 and A2 or B1 & B2
SIGNS ARE OPPOSITE
THOUGH "turning” IS
MAINTAINED.

Tor ONLY THE NATURE OF THE
ONOMETRIC CROSSINGS WILL GIVE

A REPRODUCIBLE #
ANSWER.

REPRODUCTIVENESS IS
OF PARAMOUNT

Fig.3

IMPORTANCE.
DIRECT
DIRECT /

or
TRIGONOMETRIC

(ANTLCLOCKWISE
or LEFT)

LATERALIZATION

( best avoid "HANDEDMNESS",
could be “rotation” but this put
ton much accent on the geometrical ©
nature of a move )

KQ\

INDIRECT

(CLOCKWISE
at RIGHT)

AS SHOWN BY THE FOUR DIAGRAMS ON
THE LEFT "Z" or *S" 1S NOT VISUALLY
DERIVABLE FROM THE

RESULT OF THE CLOVE
TURN MADE BUT T

OF THE NATURE

OF CROSSING }

GOING WITH
I

- about overhand  Fig.4 (Spart on
the Left Wend on the Right as if writing )

OVERHAND KNOT

MINUS is "S"

( note the orientation
of the arrows :

from standing part
to working end is the 'flow' in the diagrams
at each crossing, point of reference being the upper strand )

P
INDIRECT
or clockwise
rotation in a
DOWNward
direction

When on an opposite vector
it is an opposite rotation to
preserve the lateralization

Shell must be correctly
ORIENTED ( "apex" or
point UPward and aperture
DOWNward, toward
observer) to get the
correct LATERALIZATION
of the shell

Here a dextro-lateralization

Shell
drawn
somewhat

uncolled' DIRECT or Trigono

metric rotation in

vt B
directi
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- about bowlines. A slight problem is that an inside tail bowline, so called "right" can be either a "Z" or

an "S" one.
Just shows that the present notion of knot handedness is a bit queer and not handy at all !

NOEUD DE CHAISE - BOWLINE

NOTE :

Getting the sign
of the crossings
show that the
‘discriminant’ ones ,,.%.
are the 2 upper
crossings.

INSIDE tail Bwl can be
either “Z” or “S” :

"INSIDE" tail "INSIDE" tail :
"OUTSIDE" tail

It does not seem to me really advisable to call INSIDE Bwl a RIGHT Bwl as in fact it
can be either a “Z” ore a “S” and to call the OUTSIDE tail Bwl a LEFT Bwl as it can
be either too. . s

Fig.5

INSIDE TAIL BWL CAN BE EITHER "Z" or "S"
Fig.6
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|

group 4 b
-

I\

"BECKET"

"SHEET"

group

Opposite orientation of rotation for the bight
and the half-turn

COMMON SHADOW

TAILS ON DIFFERENT SIDE
LAST TWO CROSSINGS ARE OF

LAST TWO CROSSINGS ARE

OF SAME SIGN OPPOSITE SIGN

Same orientation of rotation for the bight
and the half-turn

Note that is you transform the
bight in the sheet bend in a becket
you will find again the direct result
of the becket.

It does not make much sense to
use "right" and "left" to speak
about sheet bend to differentiate
the "same side" "different side"
outing of the tails since this make
no sense when you use the formal
"Z" and "S".

- about lark's head
Fig.8

S
A
DIRECT /

TRIGONOMETRIC
(ANT-CLOCKWISE
ar LEFT)

LATERALIZATION

{ best avaid *HANDEDNESS®,
could be “ratation” but fs put

Loo much accant on the gecmatrical
naturz of 2 mave |

image = ACHIRAL

Original being "equivalent" to its mirror

LARK'S HEAD

1st degree of freedom :
Spart on left or right that is

INDIRECT : :
sense of the first "turn

C _.,K\-'\FE

2nd d.o.f : nature of the
first crossing ( 2nd is then

As you do not !
‘determined’ )

differentiate Spart from Wend this is four identical results
that you et from 2 type of actual corda e resulis.

A8 )

S02 RESULTS

= A
+ + SR
Result 1 Result 2
Result 2 Result 1
ISfrI'IIEI'OI' mirror of ||b||
@ £ ﬁs L (U-‘s
R \Y
mirror mIII'II'OI:' m":|r0nr mirror
“ “ II II d o—fll % b Of “d“
|| n d ="a =“b"

About sheet and becket bend & you should be convinced that it is better to leave all mention of "right" / "left"

in favour of "Z" and "S".
Fig.9
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Sheet bend study and becket compared to Lap/Lapp bend

THESE ARE THE SO CALLED

. -
Tails on same side : signs of last two
crossing are same ( ++ Or --) Tails on different side : signs of last two
crossing differ ( +- or -+)
Big and small cordage turn in different way :

small is "indirect”, big is "direct or trogonometric

Big and small cordage turn in same
manner : indirect or clockwise

Crossings are 4
"numbered” in the

order of “4
their apparition 3

in the "making"

four diagrams. CROSSING #6 qualify the small cordage

BUT .

FOUR .  LEFL_SHEET BEND RIGHT SHEET BEND

2
Making use only of crossing #6 as 'discriminant” gives an homogeneous answer for the

Using the total of the signs then for the sheet bend you get on the left side ONE "-" congruent
with the appelation "LEFT" and on the right side THREE "+"congruent with appelation "RIGHT"

Fig. 10 & Fig.11

THESE ARE THE SO CALLED

THREE™™

llSll - -
IT SEEMS TO ME THAT IT IS NOT REALLY THE WAY THE
IDENTICAL ONLY CHOICE OF FIRST CROSSING WAS CHANGED.

SIGN WITH MAJORITY WIN THE LATERALIZATION !

USEFULNESS OF CROSSING #6 IS STILL MAINTAINED
+

5 BECKET

Crossings are 4
"numbered" in the
order of
their apparition
in the "making" 2 7

FOUR .  LEFT_SHEET BEND RIGHT SHEET BEND

"TURNS" ARE DONE THAT MAKE THE LATERALIZATION SEE HERE THE "TURNING" WAS MAINTAINED

TWO +
FIVE =

“Sll

:
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HOW CAN YOU
PUT THEM IN THE
SAME 'DRAWER'
WHEN INSTEAD
OF AN ORIENTED
BIGHT IT IS AN
EYE WITH

ni Bl-potential ?@

M

QUITE SIMPLE IT IS : YOU SIGN THE CROSSING OF THE LOWER
CORDAGE.

SHEET BEND AND BECKET BEND -

LATERALIZATION OF SHEET BEND THESE WERE JUST AS "CONTROLS

THEY ARE MIRROR IMAGE

n—rn
- ngn As itis readily seen "SIGN" leading + Z
to "Z" or "S" lateralization is not about -~
turning here in one direction and a
M' UU fter that turning elsewherein a M w
= different direction, 4+ D2

It is about sign of discriminant
crossing(s).

s "w Case of Becket bend makes it valid to +
chose the crossing that dq makes the
a X __ U turn a crossing turn and discriminant. t ,U
¥ e
ABOVE SAME SIDE TALS
UNDER DIFFERENT SIDE TAILS
:|-( wzn " i
+
[ E\ (O I U
c1
- N -~
= / nan
. HSH = S
Xy U QU

X

Fig.13 & Fig.14
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BECKET BEND LAP /LAPP BEND
(MADE NOT ON A BIGHT BUT ON A BECKET)

Sy
T >~<)

5 73 llS!l

N

'DISCRIMINANT' , 'PIVOTAL' , CROSSING TO VIZUALIZE EASILY MAKES THE ARROWS HAVE AN UPWARD
ISN°6 DIRECTION

N\

“Z" or "8" IN NOT DEPENDANT OF THE ORIENTATION OF THE
CROSSING TURN BUT OF THE CROSSING(S)

3f\"-—'\ 3 Se——

T \<\’ T2

\CD.

NOTE : FOR "Z" BECKET AND LAPP THE CROSSING ARE IDENTICAL IN NATURE AND DIRECTION BUT
WEnd and SPart ARE INTERCHANGED.
Idem for "S"

in each "Z" / "S" category BECKET and LAPP are "REVERSE" : same sequence of crossing but SPart & WEnd
exchanged one for the other. NOTE THEY ARE NOT "MIRROR".

Figl5

a particular case : Fig-8 , an achiral or amphichirallamphicheiral knot.

ke M me A SPECIAL CASE : ACHIRAL KNOT

(/ |/ A can be "smoothely" transformed into B
| // C can be "smoothely" transformed into D

L - ROTATION 180° would make A into D, and
S B into C, BUT the SPart and WENd will be in a
A B different direction, ONLY TANGLE will be

g identical A to B, B to C.

trigonometric
Figaﬁ is a knot which is endowed with a particularity : \
it is equivalent to its mirror image and its is achiral or
amphichiral
Amphichiral knots are not the mest frequent. ) (X )

| c D
indirect

Fig.16
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- another achiral knot.

YET ANOTHER ACHIRAL KNOT

(\ N

X O KX
@f P Y

ORIGINAL MIRROR AoAAIM
TAKE THE MIRROR IMAGE NOW ROTATE 180°
MIRROR ON THE LEFT ON AN PRECEDING AND YOU

THIS HAS NO "Z" OR "S"  rUssesomn " Omiowat
AS IT IS ACHIRAL

S : 1\ /\
(@ ( /O ( 3

ORIGINAL MIRROR DRIGINAL MIRROR

TWO INTERLINKED OVERHAND KNOT UNDER ANOTHER APPEARANCE

Fig.16

Rule : sign all the crossing , then sign with highest frequency is the lateralization.
Equality of "+" and "-" = achirality.
Note : count can only be done with correct answer on a "final stable state" knot.

Fig-8 W|th asur lus
T Flg 8 g- p

(J / @7
/K

‘_\

THESE TWO DIAGRAMS ARE
EQUIVALENT

COUNTING NUMBER OF EACH SIGN ONLY GIVE A USABLE RESULT WHEN
THE KNOT IS IN A STABLE DIAGRAM ( either finished -case of Prepared Bwl that is
with a"final state" count of crossing - or without undue crossing added as in the

/’B case of the Fig-8

| + FALSE RESULTS =
- ._J Prepared Bwl which is NOT ACHIRAL is attributed and equal number of sign - & +
PREPARED OUTSICE tail Bw  Fig-8 which is CHIRAL is attributed a majority of sign minus

BEWARE !
Count of sign must be made on a knot "in a stable state"

( subject to contradiction by reality )




